\verb|rho-th1|

0.12 1

0.11 1

0.10 1

0.09

\verb|HLT_Z2-sig0.110000—-alpha—-1.99|
\verb|HLT_Z2-sig0.110000-alpha0.00|
\verb|HLT_Z2-sig0.110000-alpha2.00|

_I2
\verb|log10(A/A0)_ref|




\verb|rho-th1|

0.1

¢ ¢ ¢

0.12 4

o

=

=
1

0.10 4

0.09 1

\ve
\ve

\ve

b|HLT_Z2-sig0.130000-alpha-1.99|
b|HLT_Z2-sig0.130000-alpha0.00)|
b|HLT_Z2-sig0.130000-alpha2.00|

-3 -2 -1
\verb|log10(A/A0)_ref|




\verb|rho-th1|

-&- \veth|HLT Z2+5ig0.500000-alpha+1.09]
1

-@- \verb|HLT_Z2-sig0.500000- I;E1a«|0

0.7®= \verb|HLT_Z2+sig0.500000- Ip1a[ (0]
o
| AT
o |
0]
[0) N
1) 11
VN
0.09 1 il
¢
(] A
? -
0.08
‘ |' Il
0.07 4 + +
0.06 1 +
4 -3 -2 '

\verb|log10(A/A0)_ref|




